RKC4.4T-12.5-RSC4.4T/TX0O3701

MR A R TEAERBRY — EREH

M12x1 215 ~514

ol5
2514 m12x1

BAREIE
Filg= RKC4.4T-12.5-RSC4.4T/TXO3701
®5 6635674
FRIEFE @ HEFEVASSER ( lRA : 2021528 )
BREAA #3k, M12 x 1, B, A-coded
HEIHE 4
i J= %1, Cuzn , £
AR E B, TPU, B
TEIEF B, TPU, B
TE IR /9R4T 1, Cuzn,
Seal BH, FPM/FKM
W > 100 FEEIRE
EREE 3
RipEE IP67, IP69K, REITERET
EREHB B4, M12 x 1, B3, A-coded
HEIHE 4
i J=3 %1, Cuzn , £
bR E B, TPU, B
TEEF BRME, TPU, B
¥ B2 R/ E R 1R 4T 1, Cuzn, 4
MED > 100 FEERE
EREE 3
BhiF S & IP67, IPBOK, 1R 2437437 — 2 at
B4
KLER @ 5.6 mm +0.20
ZHKE 125 m
KK E PUR, &
Sk u G PP

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 1|2

9

B
(@ C € Rotis

LISTED compliant

a\
RoHS v
compliant
% X 1P67/
b IP69K
-
B | corecrion

M Female M12, straight, 4-pin

B Male M12, straight, 4-pin

BHFEME : PUR

NP EHE :

W AR K 1

NERA TiEsE

E{tZEm,. REAL. W

BESHEMRME (FAFT2 (UL/CSA), IEC
60332-1-2, IEC 60332-2-2#7/f )

BTREXE ( HEEN 50267-2-1554 )

BTREBHE, PVCHILABS ( HFAPV3.10.7
79i: )

45 50 T EE R

WP ER : IP67. IP69K

WERKE : 125K

SEEEE

R R DB

RKC4.4T-12.5-RSC4.4T/TXO3701| 25-02-2025 06-30 | R EH AR M B K



BAREHE
ZOHEER 4x0.34 mm?
SEHE BN, WH, BU, BK
BHSHRE@20°C

BEIFBE 250V
Wizt BB 2000 V
B3 4A
Emer & A{E 60 Q/km
P A2 1R
EHYER (AERNRE) 2 5 x@
¥R (H) > 10 xg
BH#¥E 258A
BiFMEE &S 10 m/s?
B KA ERR 10 m (10 m/s? &)
BN EEREER 10 m (10 m/s2 &)
BFBTRE 3.3 m/s
5 H +180 °/m
HRRE (EE ) -40...+80 °C
WREE (B3 ) -25...+80 °C
HIERE (HE8E) -25...+60 °C
TAE cULus

it 44

TORQUE-WRENCH-SET-AS 6936170

B4

R~HE

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 2|2

BERFER ; LETEHRE04-1.0
Nm , BTM8 (SWO)RBEIRF , A
FM12 (SW 14) B AR FE

BS ®5
LABEL-HOLDER-FLEX-PVC 100048170

2WH 2WH
(o] O
1BN (O O)3BU 3BU 1BN
©]
4 BK 4 BK
B8 3%
=" | | —— |
1> o =1
| 2> b Lo |
i | BU y |
[ 307 =3 |
L gy L L my |
| A -} | AU |

AFFREREHHPVCHER ( TEY
TXLFE@mRY ) ; EANKEER : &
N5mm ; R 74 x 18 mm ; BFEM
1% . 88501

RKC4.4T-12.5-RSC4.4T/TXO3701| 25-02-2025 06-30 | R EH AR M B K



